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CAFE(16) = 12 x 16 +10 x 162 4 15 x 16! + 14 x 16
= 12x4096+ 10 x 256 +15 x 16+ 14 x 1
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0.0100001(2) = O0x8 '4+1x824+0x83+0x84*4+0x8°4+0x804+1x87
= 0x05+1x0.25+0x0.125+ 0 x 0.0625 + 0 x 0.03125
+0 x 0.015625 + 1 x 0.0078125
= 0.25+ 0.0078125
0.2578125

LB, Lo T, 245 0.0100001 1% 10 #%L 0.2578125 TH 5,

500 DIFE % b A B Tl FROER L LT 001 2 BIEIC 3 =D& E 2% 4T T
Wh, 2L, EDFTICb 4 L 90T M LN LiZh>TnD, ZOHfEd 125 % H
DIREDFEZEZ RS,

BEH FEDO LI SIERICIE L TEZAUTL (4 & 9 1EHH Lew).

| SR | b CHE S DS |

1
0
1
2
3
4
5
6
7

O = O Ot W NN+ O

10 #5125 1%, LT oRE XY, 8 175 ThH 5,

R0
125+8 = 15 - 5 =5(8) 1
58 = 1 - 7 =7(8) 1
148 = 0 -- 1 =1(8) 1

L7=MNoT, BRIV 121,728,526l ENRMETHILEND, WEOFFIL 186 &
05,



7% A RO 10 A= VITFEE ST B B O LD 72 6 - T /N O L
@ﬁfﬁ%& 2OV 10 #4 0.6875 A FIICF iR L 72 SV (0.6875(10)=0.1011(2)),

RER FHEERN LR LN LT HON

0.6875 x2 = 1375 = 1+ 0.375,
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